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OEzExEME 31,000
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OXNgE X 2el oAt 24
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01 At2 22l b 92,300 82,300 10,000
OnNs&E=Z Sz 50,0003 ~8CH 400
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LI HZ A 80,000& *6CH 23] 960
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60,000 200 A =128 1,440
OAlZ &I Xlbl 137,107
- &I, ZH |TB(241 S)
36,672,000 36,672
—-AEJ3,&H |FRU(SAI 8)
100,435,000 100,435
OXt& & eyl 36,470
-HESE 3,950,000 1CH 3,950
-S8s¢ 5,800,000 «1CH 5,800
-Sg83= 4,040,000 304 12,120
-UsHI 14,600,000 = 1CH 14,600
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- b5 3,178,575 x2H «12& 76,286
= 3,205,100 «3E «12& 115,384
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—AN2AZRE 69,073
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OF~ELE = 42,340
-ItE=g 13,320
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- HAEHI L 20,000& x22H 128 5,280
- AAEHIE(OLES1) 30,0008 1«12 360
- AN EHIE(OHEZ2) 80,0002 x 1«12 960
-F2=gotits 17,160
- 25014 130,000& x5 123 7,800
- 202 0l & 110,000& 18 x 122 1,320
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o623 155,000& *3H 12& 5,580
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